Hudson Park High School

GRADE 10
MATHEMATICS
Time ¢ 2 hours Date : 1st June 2015

Marks : 100 Examiner : CLM

Instructions:
1. Non compliance of the following rules will result in mark loss, at the discretion of the marker

2. lliegible work , in the opinion of the marker will earn zero marks
3. Number your work clearly and accurately, and start every question on a new page
4. Use relevant formulae and show all working out
5. Non programmable and/or graphical calculators may be used unless they are specifically
prohibited
6. Round off all answers to 2 decimal places, where necessary, unless instructed otherwise
QUESTION 1 [7 marks]
1.1. Write 1,3 as an improper fraction, showing all working out;
calculators may not be used. ' (3)
1.2 Show between which two consecutive whole numbers 3100 lies; show
all working out and do not use a calculator. : (2)
. V2=5x . ' ) )
1.3. Given: T = - Write down a value of x which will
result in T being:
1.3.1. non real 1
1.3.2. undefined 1 (2
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